Agaram.LK - Keep your dreams alive!

www.agaram.lk

DEDE) BePES - eme® 10
oo sbdesn D580

[ 10 6@ ] [ Sone : 15 ©8mom ]

8350 gE»HORO 8o svnsm.

1) Bese 3.
)  x+5=8 i)  —3x+7=16 ii) ?:6
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iv) 2(x +5)=24 V) €—8:9
2) oD DOHsS B wdwden Dwcsim.
) 12+ 4{x +3(x +4)} = 108
i)  5x+7{4-(x+3)}=31
i) 2{3y—-2(y+5)+3}=—4
iv) 20 — 2{2x — (2 —x) + 10}=-44
V) 5{3x —4(x +2) +5(2x + 1)} =60
3) oom wdnden dwngsis.
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4) oD ©8@m® wdmden Bewesim.
)] x+3y =14 i) 3a-2b =5
X—3y =2 3a+4b =17
i) 5p—-3r =3 iv) 99-2h = -1
2p+3r = 18 —9g+3h =24
V) v+3u = -1
Sv+3u = 19
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